Directions for Bingo: Use a Vis-a-vis marker to write a

numeral in each of the boxes from 1-20. Display the premade
flashcard to the other player. If the sum is on the math card,
then place a marker on the card. There are several ways to
win the game.
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To win the game, students can have a marker in each
corner which is called 4 corners.

To win the game, students can have 4 markers
diagonally.

To win the students can have 4 markers at the top or at
the bottom of the card.

To win the students can fill up the whole card.

Dice Game:

®

Player 1 will roll 2 dice and write down the numbers (addends).
Addends are the two numbers you are adding.

Add up the addends and write the sum. The sum is the answer. If
both players agree with the answer, then player 1 will toss a coin. If
player lands on heads, then player will move 2 spaces. If player
lands on tails, then player will move 1 space.

Player 2 will roll 2 dice and write down the numbers (addends).
Player 2 will add up the addends and write the sum. The sum is the -
answer. If both players agree with the answer, then player 2 will toss
a coin. If player lands on heads, then player will move 2 spaces. If
player lands on tails, then player will move 1 space.




Please put the numbers 1-20 in the boxes in
random order.
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